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7XMXDQ� SHQHOLWLDQ� LQL� DGDODK�PHQGHVNULSVLNDQ� �� ���$QJND� SDUWLVLSDVL� VHNRODK� �$36��� ���
DQJND� SDUWLVLSDVL� NDVDU� �$3.��� ��� DQJND� SDUWLVLSDVL� PXUQL� �$30�� GDQ� ��� .HWHUNDLWDQ� MXPODK�
SUDVDUDQD� SHQGLGLNDQ� GHQJDQ� DQJND� SDUWLVLSDVL� VHNRODK� �$36��$3.��$30�� VHWLDS� NHFDPDWDQ� GL�
.DEXSDWHQ�6LMXQMXQJ�WDKXQ�����������

-HQLV� SHQHOLWLDQ� LQL�DGDODK� SHQGHNDWDQ� NXDQWLWDWLI� GHQJDQ�DQDOLVLV� GDWD� VHNXQGHU� �$'6��
6XPEHU� GDWD� GDODP� SHQHOLWLDQ� LQL� \DLWX� GDWD� VHNXQGHU� \DQJ� LQL� GLSHUROHK� GDUL� �%36�� GDQ�
�.HPHQGLNEXG��.DEXSDWHQ�6LMXQMXQJ�

+DVLO�SHQHOLWLDQ�LQL�DGDODK������5DWD�UDWD�$36�6'���������$36�6/73��������GDQ�$36�
6/7$��������VHWLDS�.HFDPDWDQ�GL�.DEXSDWHQ�6LMXQMXQJ�WDKXQ���������������5DWD�UDWD�$3.�6'�
���������$3.�6/73��������GDQ�$3.�6/7$���������VHWLDS�.HFDPDWDQ�GL�.DEXSDWHQ�6LMXQMXQJ�
WDKXQ ����������� ���5DWD�UDWD�$30�6'���������$30�6/73��������GDQ�$03�6/7$��������
VHWLDS� .HFDPDWDQ� GL� .DEXSDWHQ� 6LMXQMXQJ� WDKXQ� ����������� ��� .HWHUNDLWDQ� MXPODK� SUDVDUDQD�
SHQGLGLNDQ�GHQJDQ�DQJND�SDUWLVLSDVL� VHNRODK��$36��$3.��$30��VHWLDS�NHFDPDWDQ�GL�.DEXSDWHQ�
6LMXQMXQJ� WDKXQ� ���������� \DLWX� VHPDNLQ� EDQ\DN� MXPODK� SUDVDUDQD� SHQGLGLNDQ� DWDX� MXPODK�
VHNRODK� PDND� FHQGUXQJ� $36�� $3.�� $30� MXJD� DNDQ� VHPDNLQ� WLQJJL� GDQ� VHEDOLNQ\D� VHPDNLQ�
VHGLNLW� MXPODK� VHNRODK�PDND�$36��$3.��$30� FHQGUXQJ� VHPDNLQ� UHQGDK� GDQ� MXPODK� SUDVDUDQD
SHQGLGLNDQ�EHUNXUDQJ�VHPDNLQ�WLQJJL�WLQJNDW�MHQMDQJ�SHQGLGLNDQ�GDQ�$36��$3.��$30�MXJD�DNDQ�
EHUNXUDQJ�VHPDNLQ�WLQJJL�WLQJNDW�MHQMDQJ�
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